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(sin® — cos 8)? = sin? @ — 2 sin O cos O + cos? O = x?
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sinf cos 8 =
72 DT,
sin® 6 — cos® 6 = (sin @ — cos 0)(sin? O + sin 6 cos O + cos? H)
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2C-DA-N+@-DC-N+B-a-H2-yN+6-H*-y)}=35

(a—4)(c—-2)=8
a, clIXIEQOEKTH LN, ZOX A2 /IE,
(a—4,c—2)=1(1,8),(2,4),(4,2),(8,1)
(a,c) = (5,10),(6,6),(8,4),(12,3)
a<ckt®O&b,
(a,b,c) = (5,3,10)
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X = -
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—2x—-5)—-(2x+3)<10
—-4x+2<10
x> -2
koT, —2<xs-2

—§<x<§®é:é°,
—2x-5+@2x+3)=8<10
Lo T, ﬁb:ﬁijﬁ“é®fv—§<x<;

§§x0)<‘:?—i<,
(2x—-5)+2x+3)<10
4x —2 <10
x <3
koT, 25x<s.
PLEDD, —2<x<3.
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P(Sp — S, = 2 2208, < 3)
=P(Sp =575, S3)+P(Sg =4 7S, S2)+P(S5 =3 />S5, = 1)
+P(S5 =2 2225, = 0)
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P(Sp — S, =2 208, < 3)
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f)=ax?—(a+Dx+a—4

LT 5.

FHR0<a<B=17bf(1) =0RDTa=5L745%. ZDLx,
flx)=5x2—-6x+1=(x—1)Gx—1)

ThHMD, f()=002 00T =1,1L7Y, a=1rib. TiULEH0<a<p=1

Zc L CWAHDT, a=>5.
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L7=235T, alx
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